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Lageplan Baufelder 2 und 3

Lageplan Baufeld 4

Anschluss Lageplan Baufelder 2 und 3

An
sc

hl
us

s L
ag

ep
la

n 
Ba

uf
el

d 
4

Datum:

Ausschnitt:PSP-Element:

Sachgebiet:

bearbeitet:

CAD-Bearbeitung:

geprüft:

gesehen 660210:

gesehen 6602:

Amtsleitung 66:

Blattgröße:

Maßstab:

Blatt Nr.:
Pfad:

x

1: 

Lage-G 3000 mm 1000 mm

06.04.2017

660210

24.07.2017
gez. Weuster

24.07.2017
gez. Weuster

B 455
NAURODER STRASSE

in
Bierstadt

Erschließung Baugebiet
B I E R S T A D T   N O R D

-
Baufelder 1 bis 4

Übersichtslageplan

T:\6602\Planung-Straße\Bierstadt\Bierstadt-Nord_Anbindung_B455\Lageplan-Gesamt.icd

1000

24.07.2017
gez. Röhl

25.07.2017
gez. Berg

25.07.2017
gez. Dr. Conrad

26.07.2017
gez. Dr. Beckefeld


